i o stration 94
. . the following information, calculate Gross Profit Ratio:

- 31st March, 2018 }) 31st March, 2019 (%)
Revenue from Operations (Net Sales) 1,60,000 2,00,000
&ross Profit 40,000 60,000

ylution

Gross Profit
ss Profit Ratio = x 100
e M9 Revenue from Operations (Net Sales)
T 40,000
For 31st March, 2018: Gross Profit Ratio = m % 100 = 25%.
SEYTY x 100 = 30%.

For 31st March, 2019: Gross Profit Ratio = ————? 200,000

fllustration 95.
ompute Gross Profit Ratio from the following information:
Revenue from Operations X 6,00,000; Gross Profit 25% on cost. (AI 2004, Modified)

oiution:
Let the Cost be ¥ 100; Gross Profit = X 25; Sales = 25

%100

Cost of Revenue from Operations (Cost of Goods Sold) = ﬁx? 6,00,000 =X 4,80,000

Gross Profit = Revenue from Operations — Cost of Revenue from Operations
=% 6,00,000 — X 4,80,000 = X 1,20,000.

Gross Profit Ratio = Gross Profit %100 = % 1,20,000
Revenue from Operations T 6,00,000

%100 = 20%.
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mustratlon T/ .,_. 7
‘calculate Operatm'_

gpening [nventory

purchases
les (Gross)
(losing Inventory
\dministrative Expenses

Solution:
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4.70 Analysis of Financial Statements—CBsg X1

Illustration 108.
Calculate Operating Profit Ratio from the following information:

3 <

Revenue from Operations, i.e., Net Sales 47,99,600 | Selling and Distribution Expenses 4,50,400
Cost of Goods Sold or Cost of Interest on Loan 50,000
Revenue from Operations 24,40,200 | Income from Investment 60,000
Wages 3,04,000 | Loss by theft 30,000
Office and Administrative Expenses 2,51,200

Solution:

. Operating Profit
Operating Profit Ratio = P & X100

Revenue from Operations (Net Sales)

% 16,57,800 (Note
= ( ) x 100 = 34.54%.
% 47,99,600
Note: Operating Profit = Revenue from Operations, i.e., Net Sales — Cost of Revenue from Operations
(Cost of Goods Sold)* — Office and Administrative Expenses — Selling and
Distribution Expenses

= X 47,99,600 —X 24,40,200 - 2,51,200 - ¥ 4,50,400 = T 16,57,800.

“Wages is already included in Cost of Revenue from Operations (Cost of Goods Sold) being
a direct expense.
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[lustration 112. .
Profit Ratio:

From the following information, calculate Net
¥5,00,000 | Advertisement Expenses

3 2,00,000 Interest
¥ 45,000 | Rent (Income)

Revenue from Operations

Gross Profit
Salaries and Wages

Solution:
Net Profit Ratio = ACk PI‘OfIt
Revenue from Operations (Net Sales)
1 X 2,00,000 (WN) 100 = 40%.
Working Note: < 5,00,000

=3 45,000 + T 10,000 + I 5,000 = X 60,000.
Other Income (Rent) = T 60.000.

100

Net Profit = Gross Profit - Indirect Expenses and Losses + Other Income
\ =X 2,00,000 - % 60,000 + % 60,000 = ¥ 2,00,000
Indirect Expenses and Losses = Salaries and Wages + Advertisement Expenses + Interest

< 10,009
< 5,000
< 60,000
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| Not&
”]ustraﬁo“' 119 (Calculation of Return on Investment When Closing Balance Sheet is given).
Jowing is the Balance Sheet of Paliwal Exports Ltd. as at 31st March, 2019:

 fo

| s

| QUITY AND LIABILITIES

; 1 Shareholders’Funds
(a) Share Capital =
(b) Reserves and Surplus:

surplus, i.e,, Balance in Statement of Profit and Loss:

Note No. 4

Opening Balance 420,000
Add: Transfer from Statement of Profit and Loss 9,72,000 13,92,000
2. Non-Current Liabilities G T |
15% Long-term Borrowings 16,00,000
3. current Liabilities 8,00,000
, Total 42,92,000
|l ASSETS (T
1. Non-Current Assets
(a) Fixed Assets 18,00,000
(b) Non-current[nvestments:
(i) 10% Investments 2,00,000
(i) 10% Non-trade Investments 1,20,000
2. Current Assets 21,72,000
42,92,000

Total

:1 You are required to calculate Return on Investment for the year 2018-19 with reference

to Opening Capital Employed.

§ Solution:
B i on Investmentior CapialiEmpIoETis Net Profit b.efore Interest and Tax 100
Capital Employed
% 12,00,000
_,5 = m x 100 = 50%.
Calculation of Net Profit before Interest and Tax: 3
§ Net Profit 9,72,000
43 Add: Tnterest on Long-term Borrowings (15% on T 16,00,000) 2,40,000
12,12,000
j Less: Interest on Non-trade Investments (10% on X 1,20,000) 12,000
1 "12,00,000

« Net Profit before Interest and Tax
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4.78

Analysis of Financial Statements—cpgp X

Capital Employed (Liabilities Side Approach)
Capital Employed = Share Capital + Reserves and Surplus — Current Year’s Profit
+ Non-Current Liabilities — Non-trade Investments
= ¥ 5,00,000 + ¥ 4,20,000 + ¥ 16,00,000 — T 1,20,000 = ¥ 24,00,000.
Capital Employed (Assets Side Approach) -
Capital Employed = Non-current Assets (excluding Non-trade Investments) + Current Assets

— Current Liabilities — Current Year’s Profit
= ¥ 20,00,000 + ¥ 21,72,000 — ¥ 8,00,000 — X 9,72,000 = X 24,00,000.

Note: 10% Investments are Trade Investments.
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